
 

Completing the Square

Exampies D x't Gx t 5

x 351 5 9

x 3 acts
x 35 4

off 3 3 9 I

It 6 1 9 2
2 se 8 x t 3

x 472 3 16

x a
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Exercise Complete the squares for

1 22 10 12 2 K2 2x 4

x 55 12 25 1
2

4 I

acts 13 x 1 t 3

Perimeter and Area

Revision



A farmer has a field

1 box of fertiliser will
cover 12 inland costs 4.50

5 85 m Fencing costs 3.20 per metre64

i Find the cost of fertiliser to cover the field

i Find the cost of fencing round the field

i Area Trix 642 Tx 854.36 4035.2 m2
360

Boxes 40,325.22 336.3 boxes 337 boxes

337 X 4.50 I 1516.50

ii perimeter 2itrx64 t r tr
360

2 17 85 64 85 85 264.95in
360

Say 265in Cost 265 3.20 848

PercentageProfit
John buy 60 bottles of coke for 85ps each

He sells 48 bottles for 2 1.30 each The

rest he sells for 50ps each

what was his percentage profit



Cost of sales 60 0.85 251

Income 48 X 1 30 t 12 10 50 68.40

Profit 68.40 251 1 17.40

Percentage Profit 17.40
51

x too 34 I

Rearranging Formulae

Easy 1 y 2 3 Make a subject

g 3 2x

y 3 x x 9 3
2 2

z Uta C Make a subject
V u at
v u a

T

Harder y 2 Make a subject
X 2

b x 2 2 1 3

ya Zig 2 3

ya 2x 3 2g
x y Z 3 23
X 3t2y

7 2



Exercise
y

x 2

Y octz Xt l

y se t 2g x t I

y x x I 2g
y c l 2g

x I 2g
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